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need to be integers. After you build the polynomial, check your build on Desmos an
make note of the attributes it has.

[ Find a polynomial in standard form with the following attribute(s). All coefficients j
d

’

(0+3) {o-u) = () -4) = (o0,-3¢) ;(31-2x3'. ISx -3
The end behavior of the polynomial is...
if x oo theny — =

if X = —co theny —» —°

(eeSmilat TR
The fully factomd form of f(x) is: =3 x.j x=Y " *3 f3xx 4)
Ti: xmstzrci o (xm 0 )0 (k-0 (x™3x3<+DX-4)
- pts are: .
S gt )
The y-intercept of the polynomial is: (p)\. ‘i 0) X fk f&c.ﬂx‘x _gx_s(a

| | “+
(‘no\‘\’lp\‘( ‘PM Xs and 'H"bll( ex PQ\’UL\'}'('% 4066%’“( i
2 > 7
(x) «(x)= X
y 3 J'
— K . >
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I (zeros: x=-v3, x=0; mult:2 . . 4 S*ﬁaxu‘d Fom Q
_ Given implie (@UO‘)@
The fully factored form of {(x) is: X= rg\ X 2 r-. ( 31 Y
- (x+3)(x-13) (x) (x+13)=0 (x-3)0 X=RiS txg -3 (X
Ehe rir-inte)rcz;;_t_s arS: ( > X=0 (X :7 2)
3.0 2.0 0,0 -
The y-intercept of the polynomlal is: -pl a ox O X“"bx
b (043 )(0-B) (oY - (0/0)

The end behavior of the polynomial is...

ifx > oo theny — 0

if x = —oo theny — 9O
moliply e x's and

(x)(x>(x)z = xq
% 0

\_ \_ v

theic expangats “'oac-}\«u ¢
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Qe ——— —— ' ™ 2
(ze,os; x=2-45,x=1 | Tm\ imphd )
T xeg) 0w
The x-intercepts are: [X-’((l- r.)}o (x-(2415))=0

[(Z-G),OJ B Zfﬁs) 5} (1,0) ( -)20

The y-intercept of the polynomial is:

[0 - (2-5)][o- (4 =)] (0 - 1) 1’
The end behavior of the polynomial is.. 0 ,|)

ifx —eo theny — s

if x — —oo theny — -

(&) = X
Y \

\ Stand (X@x- 2 T
[x TESIES (m—))oc D x’gﬁ.é.xﬂ.qgsﬂ il
E( X(‘Lﬂ'—) mé_)‘!- (@)}(x-\) X-Sx 3 x|

’\[x -2x XI5 -2x XIS Y €28 245 -S \(x-1)
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_—/\ \ = — — N
(zeros: x=-2i,Xx= \/E \u)p; " (@1;}(@&) il |
The fully factored form of f(x) is: s Wﬂ(x -Z'i(—L s )( X" iq {3 —(ﬁ'ﬁ))

(X +2L)(X-ZL)(X—(—Z>(X +V7.> (x1 &q)(xi-Z)
The x-intercepts are: q it
(-2¢.6)(20,0) (T2 ,0) (- T2 ,0) RI=24Uxt~g |~
The y-intercept of the polynomial is:

(o«zi)(o-za)(o-ﬁj(o:,r,:) X 42x"- 8

The end behavior of the polynomial is.~. l
if x — oo theny — “© [0,-%) .

if x = —co theny — =2

(X)) = % ®

. \_

S . —~

Qiven \mp\'\el{
X=-2¢ X‘-‘?j
(k42030 (x-2)=0
X=17  e-ia
i (%-42)0 (x+12)=0
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The y-intercept of the polynomial is:

(0-0)(04i)(0-3i)(0+30) & X" +lox +9
(0,9)

The end behavior of the polynomial is...

ifx —eo theny — oy

if x > —oo theny — =°

x _

a Write a polynomial to rapmsentthevolum: of the rectangular prism.
tﬁ-in
ez, (+3)x-d)(xas) [ %3 Tt 9o Sx-40
= (0 g‘!)(O-q)(o *S) w—
. Kol (3)(-4)(5)
e | (-12)(s)

The fully factored form of f(x) is: F A

(x +3)(x-u)(x+5) -be

The x-intercepts are: Sk {" L4}

(-3,0) (4,0) (-5,0) ( £)X- x.(-S)

The y-intercept of the polynomial is:

(0, -Lo) (x2-gqeedx-1D)xas) |5

The end behavior of the polynomial is...
1 if x— oo theny —» “©__ 2 i
I/’E \_ ifx——cotheny— -0 / 3

(" zeros: x=1i,x=3i (x,-,:i(\o t\({:ﬁ:&) S*“M”d {OM | \‘-/‘
Thefﬂyﬁr’adf £ 1) £y sl 1)( \é/ |
ully factored form of f(x) is: 3T, ® L -
(X'LXX*Q(X-'SL\)()US;) ( . Lz X + 2l XL )
The x-intercepts are: X 4 l) (’( *q)
(v,0) (-1,9) ('5;,0)(-3@,0) x' 4952, "
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problom #2,
\ & ' /

\ (-1.732,0) I(1.732. 0) /

2 |\ -/0\/2
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(1.236, u‘) /
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(1.4i4,0)
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(-5,0)
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(0.9)
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